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QUESTION 1

One single Appliance supports 1M concurrent connections. How many concurrent connections will support Security
Group of 2 Appliances? 

A. 2M 

B. 500K 

C. 4M 

D. 1M 

Correct Answer: A 

One single Appliance supports 1M concurrent connections, so a Security Group of 2 Appliances will support 2M
concurrent connections. 

How to troubleshoot Gaia Portal (WebUI) 

https://supportcenter.checkpoint.com/supportcenter/portal?eventSubmit_doGoviewsolution
details=andsolutionid=sk91380 

VSX R81 Administration Guide 

https://downloads.checkpoint.com/dc/download.htm?ID=103853 

List of All Resolved Issues and New Features 

https://sc1.checkpoint.com/documents/Jumbo_HFA/R81.10/R81.10/R81.10-List-of-all- Resolved-Issues.htm 

 

QUESTION 2

Which file on Appliance includes information about Security Group? 

A. /etc/chassisdb.json 

B. /etc/sgdb.json 

C. /etc/smodb.json 

D. /etc/distutiljson 

Correct Answer: B 

 

QUESTION 3

What cannot be learned from the output of asg perf -v -p command? 

A. Average CPU usage on Appliances 
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B. Real-time throughput 

C. Average CPU usage on Orchestrators 

D. Per-path distribution 

Correct Answer: C 

 

QUESTION 4

What does asg monitor command do? 

A. Monitor health status of entire system 

B. This command does not exist 

C. Monitor traffic on Appliances in Security Group 

D. Show real-time cluster status of Appliances in Security Group 

Correct Answer: D 

 

QUESTION 5

Which setting is required in order to connect an appliance with 40Gbps downlink interface and DAC to the Orchestrator
MHO-140? 

A. On Orchestrator: Change QSFP mode from 100Gbps to 40Gbps 

B. On Orchestrator: Change port type from uplink to downlink 

C. On Appliance: Change a port speed to 10Gbps 

D. No change required 

Correct Answer: B 

 

QUESTION 6

What is a downlink interface used for? 

A. To connect Orchestrators to customer\\'s infrastructure 

B. To connect appliances to customer\\'s infrastructure 

C. To connect appliances to Orchestrators 

D. D.To connect in between Orchestrators 

Correct Answer: C 

156-835 PDF Dumps | 156-835 VCE Dumps | 156-835 Practice Test                                3 / 6

https://www.certbus.com/156-835.html
https://www.certbus.com/156-835.html
https://www.certbus.com/156-835.html


https://www.certbus.com/156-835.html
2024 Latest certbus 156-835 PDF and VCE dumps Download

 

QUESTION 7

What is the purpose of Management ports located on the Rear Panel of the Orchestrator MHO-140? 

A. Reserved for internal purposes. Not in use. 

B. Out-of-band interfaces for access to Orchestrator itself. 

C. 1Gbps connectivity for Security Groups. 

D. Additional ports used as uplinks. 

Correct Answer: B 

 

QUESTION 8

When running ifconfig command on an Appliance, there are interfaces shown in the list: ethl-Sync and eth2-Sync. What
is the purpose of these interfaces? 

A. These interfaces are bond members (slaves) of Sync Bond 

B. These interfaces can be used as backup for Sync interface 

C. These interfaces are not in use. Security GW module use Sync interface for synchronization 

D. These interfaces represent physical Sync interface at the front panel of appliance 

Correct Answer: D 

 

 

QUESTION 9

What is the throughput penalty of Security Group? 

A. 5% per member 

B. Depends on the type of Appliance 

C. 10% per Security Group with no relation to amount of members 

D. 1% per member 

Correct Answer: D 

 

QUESTION 10

What cannot be a reason for DETACHED status of Appliance when runningasg monitor command? 
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A. Appliance reboots 

B. Appliance is a member of Security Group, but currently disconnected 

C. Appliance installed with R80.20 

D. There\\'s an issue with Downlink cable 

Correct Answer: C 

 

QUESTION 11

In order to set Site (chassis) priority per VS, following command should be used: 

A. From given VS context: set chassis high-availability vs chassis_priority 

B. From given VSO context: set chassis high-availability vs chassis_priority 

C. From any VS context: set chassis high-availability vs chassis_priority 

D. From VSO context: set chassis high-availability vs chassis_priority 

Correct Answer: B 

 

QUESTION 12

There are two 10Gbps dual-port NICs and one 40Gbps NIC installed on a 23800 Appliance in slots 1, 2 and 3
accordingly. Which interfaces should be connected to Orchestrator 1 for downlinks\\' intra-orchestrator redundancy
when using two Orchestrators? 

A. Any pair of available ports 

B. Port 1 in Slot 2 and Port 2 in Slot 1 

C. Port 1 in Slot 1 and Port 2 in Slot 1 

D. This configuration is not supported 

Correct Answer: C 

 

 

QUESTION 13

What is the minimal amount of cables needed in order to connect an Appliance to an Orchestrator? 

A. Three cables: uplink, downlink, SYNC 

B. One Downlink cable only 

C. Two cables: one uplink and one downlink 
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D. Four cables: uplink, downlink, SYNC and Management 

Correct Answer: B 

 

QUESTION 14

What is the distribution mode? 

A. Distribution mode is the same as QSFP mode 

B. Distribution mode is how the Orchestrator distributes traffic in between Security Groups 

C. Distribution mode means selected algorithm for traffic distribution in between Orchestrators 

D. Distribution mode means selected algorithm for traffic distribution in between Appliances 

Correct Answer: D 

 

QUESTION 15

Which licenses should be issued for the Orchestrator? 

A. No licenses are required for Orchestrator 

B. The Orchestrator is considered a Management server, hence it\\'s licensed the same way 

C. The Orchestrator requires NGTX license 

D. Depends on Software Blades enabled on connected appliances 

Correct Answer: A 
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